# On Parametric Surfaces with Constant Mean Curvature Along Given Smarandache Curves in Lie Group 

Zühal Küçükarslan Yüzbaşı ${ }^{1}{ }^{\text {© }}$, Sevinç Taze ${ }^{2}$ ©

Article Info<br>Received: 23 Aug 2022<br>Accepted: 27 Sep 2022<br>Published: 30 Sep 2022<br>doi:10.53570/jnt. 1165809<br>Research Article


#### Abstract

This paper finds sufficient conditions to determine a surface whose mean curvature along a given Smarandache curve is constant in a three-dimensional Lie group. This is accomplished by using the Frenet frames of the specified curve to express surfaces that span the $T N, N B$, and $T B$ Smarandache curves parametrically. In terms of the curvatures of given Smarandache curves, marching scale functions, and their partial derivatives, the mean curvatures of these surfaces along the given $T N, N B$, and TB Smarandache curves are determined. Sufficient conditions are found to maintain the provided mean curvatures of the resulting surfaces at a constant value. Finally, some examples are provided.


Keywords - Smarandache curve, mean curvature, Lie group
Mathematics Subject Classification (2020) - 53A04, 53A05

## 1. Introduction

The theory of curves is one of the most crucial research areas in classical differential geometry. For a very long time, and even now, special curves and their characterizations have been investigated. The use of special curves can be observed in nature, mechanical devices, computer-aided design, and other things. The Smarandache curve, one of the special curves, has a position vector made up of Frenet frame vectors on another regular curve. Ahmad first presented a few special Smarandache curves to the Euclidean space in [1]. Additionally, some researchers investigated Smarandache curves in the Lie group and Minkowski space [2,3], respectively.

In two ways, Lie groups are made of algebra and geometry, two significant branches of mathematics: first, Lie groups are groups, and second, they are smooth manifolds. As a result, there must be some kind of coherence between the Lie groups' geometric and algebraic structure. The current approach to geometry as a whole is based on the geometry of Lie groups. Additionally, numerous research findings on curves and surfaces in the 3 -dimensional Lie group have been published in [4-8].

On the other hand, in differential geometry, surfaces can have a variety of remarkable effects and properties. Researchers later turned their focus to the construction surfaces along a special curve such as a geodesic, an asymptotic, or a line of curvature. Some recently research on these topics was done in [9-12]. The process in these papers is as follows: conditions for that curve to be a geodesic, asymptotic, and line of curvature have been given, and the parametric surface has been constructed as a linear combination of an

[^0]isoparametric curve and its Frenet frame. A new study on construction surfaces with constant curvatures along a given curve was recently proposed by Bayram et al. [13,14].

We organized our paper as follows: we give some basic information regarding the Smarandache curve and surface theory in the 3-dimensional Lie group in Section 2. We build surfaces along the Smarandache curves of the specified curve in Section 3, and then we derive sufficient conditions for each case where the surfaces have constant mean curvature along the $T N, N B$, and $T B$ Smarandache curves. This study was derived from the second author's master's thesis under the supervision of the first author.

## 2. Preliminaries

The Frenet formulas for a unit speed curve $\alpha(s)$ in the Lie group are expressed as follows:

$$
\left[\begin{array}{l}
T^{\prime}(s)  \tag{1}\\
N^{\prime}(s) \\
B^{\prime}(s)
\end{array}\right]=\left[\begin{array}{ccc}
0 & \kappa_{1} & 0 \\
-\kappa_{1} & 0 & \left(\kappa_{2}-\overline{\kappa_{2}}\right) \\
0 & -\left(\kappa_{2}-\overline{\kappa_{2}}\right) & 0
\end{array}\right]\left[\begin{array}{c}
T(s) \\
N(s) \\
B(s)
\end{array}\right]
$$

where $\kappa_{1}$ and $\kappa_{2}$ are the curvature functions of $\alpha(s)$ and $\overline{\kappa_{2}}=\frac{1}{2}\langle[T, N], B\rangle$ which was introduced [4-7], is the Lie group torsion of $\alpha(s)$. Here, $T=\alpha^{\prime}(s), \kappa_{1}(s)=\left\|D_{T} T\right\|=\left\|T^{\prime}\right\|, \kappa_{2}=\left\|D_{T} B\right\|-\overline{\kappa_{2}}$, and $D_{T} X=X^{\prime}+$ $\frac{1}{2}[T, X]$.
Definition 2.1. [5] $\tilde{h}=\frac{\kappa_{2}-\overline{\kappa_{2}}}{\kappa_{1}}$ is denoted the harmonic curvature function of $\alpha(s)$.
Theorem 2.2. [4,5] The curve is a general helix in Lie Group G if and only if its harmonic function is a constant function.

Definition 2.3. [15] Let $\varphi=\varphi(s, t)$ be a surface in the 3-dimesional Lie Group, then the mean curvature of the ruled surface $\varphi$ in three-dimensional Lie group is given by

$$
\begin{equation*}
H=\frac{E n-2 F m+l G}{E G-F^{2}} \tag{2}
\end{equation*}
$$

where the surface normal $N=\frac{\varphi_{s} \times \varphi_{t}}{\| \varphi_{s} \times \varphi_{t \|}}, E=\left\langle\varphi_{s}, \varphi_{s}\right\rangle, F=\left\langle\varphi_{s}, \varphi_{t}\right\rangle, G=\left\langle\varphi_{t}, \varphi_{t}\right\rangle, l=\left\langle\varphi_{s s}, N\right\rangle, m=\left\langle\varphi_{s t}, N\right\rangle$, and $n=\left\langle\varphi_{t t}, N\right\rangle$.
Definition 2.4. [3] Smarandache curves are defined as regular curves whose position vectors are composed of Frenet frame vectors. This leads us
$T N$-Smarandache curve is defined as $\alpha_{T N}(s)=\frac{1}{\sqrt{2}}(T(s)+N(s))$,
$N B$-Smarandache curve is defined as $\alpha_{N B}(s)=\frac{1}{\sqrt{2}}(N(s)+B(s))$,
$T B$-Smarandache curve is defined as $\alpha_{T B}(s)=\frac{1}{\sqrt{2}}(T(s)+B(s))$,
and
$T N B$-Smarandache curve is defined as $\alpha_{T B}(s)=\frac{1}{\sqrt{3}}(T(s)+N(s)+B(s))$.

## 3. Surfaces with Constant Mean Curvature along Given Smarandache Curves

One of the special curves is the Smarandache curve, whose position vector is composed of Frenet frame vectors on another regular curve. Ahmad first presented a few unique Smarandache curves to the Euclidean space in [1]. Then, Değirmen et al. presented a few unique Smarandache curves to the Lie group in [3]. In this section, we will characterize the surfaces whose mean curvatures are constant in the three-dimensional Lie Group.

Consider $\alpha(s)$ to be an arc-length parametrized curve on a surface $P(s, t)$ in $G$. Then the curve $\alpha$ is called an isoparametric curve if it is a parameter curve, that is, there exists a parameter $t_{0}$ such that $\alpha(s)=P\left(s, t_{0}\right)$.
Since $\alpha(s)$ is an isoparametric curve on this surface, there exists a parameter $t=t_{0} \in[0, T]$ such that $\alpha(s)=$ $P\left(s, t_{0}\right)$ that leads us

$$
\begin{equation*}
f\left(s, t_{0}\right)=g\left(s, t_{0}\right)=h\left(s, t_{0}\right)=0 \text { such that } s \in[0, L] \text { and } t_{0} \in[0, T] \tag{3}
\end{equation*}
$$

Hence, if the $T N, N B$, and $T B$ Smarandache curves are isoparametric curves on this surface, then there exists a parameter $t=t_{0} \in[0, T]$ such that $\alpha_{T N}(s)=P\left(s, t_{0}\right), \alpha_{N B}(s)=P\left(s, t_{0}\right), \alpha_{T B}(s)=P\left(s, t_{0}\right)$, respectively.
$P(s, t)$ is defined based on the Smarandache curves of the curve $\alpha(s)$ and using the Frenet frame of the curve in Lie group $G$, respectively, as follows

$$
\begin{align*}
& P(s, t)=\alpha_{T N}(s)+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s)  \tag{4}\\
& P(s, t)=\alpha_{N B}(s)+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s)  \tag{5}\\
& P(s, t)=\alpha_{T B}(s)+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s) \tag{6}
\end{align*}
$$

Using the Formulation (2) to calculate mean curvatures, one can easily get the mean curvature of the surface provided in Equation (4) as follows:

$$
\begin{equation*}
H=\frac{p_{0} p_{1}+p_{2}-p_{3} p_{4}}{p_{5} p_{6}} \tag{7}
\end{equation*}
$$

where

$$
\begin{gathered}
p_{0}=\frac{1}{\sqrt{2}}\left(f_{t}^{2}+g_{t}^{2}+h_{t}^{2}\right) \\
p_{1}=\left(\left(\kappa_{1} h_{t}-\tilde{h} \kappa_{1} g_{t}\right)\left(-\frac{\partial}{\partial s} \kappa_{1}-\kappa_{1}^{2}\right)+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right)\left(-\kappa_{1}^{2}+\frac{\partial}{\partial s} \kappa_{1}-\left(\tilde{h} \kappa_{1}\right)^{2}\right)-\left(\kappa_{1} g_{t}+\kappa_{1} f_{t}\right)\left(\kappa_{1}\left(\tilde{h} \kappa_{1}\right)-\frac{\partial}{\partial s}\left(\tilde{h} \kappa_{1}\right)\right)\right) \\
p_{2}=\left(\left(\kappa_{1} h_{t}-\tilde{h} \kappa_{1} g_{t}\right) f_{t t}+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right) g_{t t}-\left(\kappa_{1} g_{t}+\kappa_{1} f_{t}\right) h_{t t}\right)\left(\kappa_{1}^{2}+\frac{\left(\tilde{h} \kappa_{1}\right)^{2}}{2}\right) \\
p_{3}=2\left(\left(\kappa_{1} h_{t}-\tilde{h} \kappa_{1} g_{t}\right)\left(f_{t s}-g_{t} \kappa_{1}\right)+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right)\left(f_{t} \kappa_{1}+g_{t s}-h_{t} \tilde{h} \kappa_{1}\right)-\left(\kappa_{1} g_{t}+\kappa_{1} f_{t}\right)\left(g_{t} \tilde{h} \kappa_{1}+h_{t s}\right)\right) \\
p_{4}=\left(-\frac{1}{\sqrt{2}} \kappa_{1} f_{t}+\frac{1}{\sqrt{2}} \kappa_{1} g_{t}+\frac{1}{\sqrt{2}} \tilde{h} \kappa_{1} h_{t}\right) \\
p_{5}=2\left(\left(\kappa_{1}^{2}+\frac{\left(\tilde{h} \kappa_{1}\right)^{2}}{2}\right)\left(f_{t}^{2}+g_{t}^{2}+h_{t}^{2}\right)-\frac{1}{2}\left(-\kappa_{1} f_{t}+\kappa_{1} g_{t}+\tilde{h} \kappa_{1} h_{t}\right)^{2}\right)
\end{gathered}
$$

and

$$
p_{6}=\sqrt{\left(\kappa_{1} h_{t}-\tilde{h} \kappa_{1} g_{t}\right)^{2}+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right)^{2}+\left(\kappa_{1} g_{t}+\kappa_{1} f_{t}\right)^{2}}
$$

The mean curvature of the surface provided in Equation (5) is given as follows:

$$
\begin{equation*}
H=\frac{q_{0} q_{1}+q_{2}-q_{3} q_{4}}{q_{5} q_{6}} \tag{8}
\end{equation*}
$$

where

$$
\begin{gathered}
q_{0}=\left(f_{t}^{2}+g_{t}^{2}+h_{t}^{2}\right) \\
q_{1}=\left(\left(-\left(\tilde{h} \kappa_{1}\right)\left(h_{t}+g_{t}\right)\right)\left(-\frac{\partial}{\partial s} \kappa_{1}+\kappa_{1}\left(\tilde{h} \kappa_{1}\right)\right)+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right)\left(-\kappa_{1}^{2}-\frac{\partial}{\partial s}\left(\tilde{h} \kappa_{1}\right)-\left(\tilde{h} \kappa_{1}\right)^{2}\right)+\left(-\kappa_{1} g_{t}+\tilde{h} \kappa_{1} f_{t}\right)\left(-\left(\tilde{h} \kappa_{1}\right)^{2}+\frac{\partial}{\partial s}\left(\tilde{h} \kappa_{1}\right)\right)\right) \\
q_{2}=\left(\left(-\left(\tilde{h} \kappa_{1}\right)\left(h_{t}+g_{t}\right)\right) f_{t t}+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right) g_{t t}+\left(-\kappa_{1} g_{t}+\tilde{h} \kappa_{1} f_{t}\right) h_{t t}\right)\left(\frac{\kappa_{1}^{2}}{2}+\frac{\left(\tilde{h} \kappa_{1}\right)^{2}}{2}\right) \\
q_{3}=\frac{2}{\sqrt{2}}\left(\left(-\left(\tilde{h} \kappa_{1}\right)\left(h_{t}+g_{t}\right)\right)\left(f_{t s}-g_{t} \kappa_{1}\right)+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right)\left(f_{t} \kappa_{1}+g_{t s}-h_{t} \tilde{h} \kappa_{1}\right)+\left(-\kappa_{1} g_{t}+\tilde{h} \kappa_{1} f_{t}\right)\left(g_{t} \tilde{h} \kappa_{1}+h_{t s}\right)\right) \\
q_{4}=\left(-\kappa_{1} f_{t}-\left(\tilde{h} \kappa_{1}\right)\left(h_{t}+g_{t}\right)\right) \\
q_{5}=\left(\left(\kappa_{1}^{2}+\left(\tilde{h} \kappa_{1}\right)^{2}\right)\left(f_{t}^{2}+g_{t}^{2}+h_{t}^{2}\right)-\left(-\kappa_{1} f_{t}-\tilde{h} \kappa_{1} g_{t}+\tilde{h} \kappa_{1} h_{t}\right)^{2}\right)
\end{gathered}
$$

and

$$
q_{6}=\sqrt{\left(-\left(\tilde{h} \kappa_{1}\right)\left(g_{t}+h_{t}\right)\right)^{2}+\left(\kappa_{1} h_{t}+\tilde{h} \kappa_{1} f_{t}\right)^{2}+\left(-\kappa_{1} g_{t}+\tilde{h} \kappa_{1} f_{t}\right)^{2}}
$$

Then, the mean curvature of the surface provided in Equation (6) is given as follows:

$$
\begin{equation*}
H=\frac{r_{0} r_{1}-r_{2}}{r_{3}} \tag{9}
\end{equation*}
$$

where

$$
\begin{gathered}
r_{0}=\left(f_{t}^{2}+g_{t}^{2}+h_{t}^{2}\right) \\
r_{1}=\left(\left(h_{t}\right)\left(-\frac{1}{\sqrt{2}} \kappa_{1}^{2}+\frac{1}{\sqrt{2}} \kappa_{1} \tilde{h} \kappa_{1}\right)-\left(f_{t}\right)\left(\frac{1}{\sqrt{2}} \kappa_{1} \tilde{h} \kappa_{1}-\frac{1}{\sqrt{2}}\left(\tilde{h} \kappa_{1}\right)^{2}\right)\right)+\frac{1}{2}\left(h_{t} f_{t t}-f_{t} h_{t t}\right)\left(\kappa_{1}-\tilde{h} \kappa_{1}\right)^{2} \\
r_{2}=2\left(\frac{1}{\sqrt{2}}\left(\kappa_{1}-\tilde{h} \kappa_{1}\right) g_{t}\right)\left(\left(h_{t}\right)\left(f_{t s}-g_{t} \kappa_{1}\right)-\left(f_{t}\right)\left(g_{t} \tilde{h} \kappa_{1}+h_{t s}\right)\right)
\end{gathered}
$$

and

$$
r_{3}=\left(\left(\left(\kappa_{1}-\tilde{h} \kappa_{1}\right)^{2}\right)\left(f_{t}^{2}+g_{t}^{2}+{h_{t}}^{2}\right)-\left(\left(\kappa_{1}-\tilde{h} \kappa_{1}\right) g_{t}\right)^{2}\right) \sqrt{\left(h_{t}^{2}-f_{t}^{2}\right)}
$$

Therefore, we can give the following main theorems for all the Smaradanche curves of the curve $\alpha(s)$ :
Theorem 3.1. Consider that the surface $P(s, t)$ is determined by Equation (4). One of the following six conditions is satisfied if the mean curvature in Equation (7) along the isoparametric Smarandache curve TN of the curve $\alpha(s)$ is constant:
a) $f=g=h=f_{t}=f_{t t}\left(\mathrm{~s}, t_{0}\right)=0, \quad g_{t}\left(s, t_{0}\right)=$ constant $\neq 0, h_{t}\left(s, t_{0}\right)=\mathrm{constant} \neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
b) $f=g=h=g_{t}=g_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right)=$ constant $\neq 0, h_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant .
c) $f=g=h=h_{t}=h_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right)=$ constant $\neq 0, g_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
d) $f=g=h=f_{t}=g_{t}=f_{t t}=g_{t t}\left(s, t_{0}\right)=0, h_{t}\left(s, t_{0}\right) \neq 0, \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
e) $f=g=h=f_{t}=h_{t}=f_{t t}=h_{t t}\left(s, t_{0}\right)=0, g_{t}\left(s, t_{0}\right)=\mathrm{constant} \neq 0, \tilde{h}(s)=\mathrm{constant}$, and $\kappa_{1}(s)=$ constant.
f) $f=g=h=h_{t}=g_{t}=h_{t t}=g_{t t}\left(s, t_{0}\right)=0, f_{t}\left(s, t_{0}\right) \neq 0, \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant .

Theorem 3.2. Consider that the surface $P(s, t)$ is determined by Equation (5). One of the following six conditions is satisfied if the mean curvature in Equation (8) along the isoparametric Smarandache curve $N B$ of the curve $\alpha(s)$ is constant:
a) $f=g=h=f_{t}=f_{t t}\left(\mathrm{~s}, t_{0}\right)=0, \quad g_{t}\left(s, t_{0}\right)=$ constant $\neq 0, h_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
b) $f=g=h=g_{t}=g_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right)=$ constant $\neq 0, h_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
c) $f=g=h=h_{t}=h_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right)=$ constant $\neq 0, g_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
d) $f=g=h=f_{t}=g_{t}=f_{t t}=g_{t t}\left(s, t_{0}\right)=0, h_{t}\left(s, t_{0}\right) \neq 0, \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
e) $f=g=h=f_{t}=h_{t}=f_{t t}=h_{t t}\left(s, t_{0}\right)=0, g_{t}\left(s, t_{0}\right) \neq 0, \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant .
f) $f=g=h=g_{t}=h_{t}=g_{t t}=h_{t t}\left(s, t_{0}\right)=0, f_{t}\left(s, t_{0}\right) \neq 0, \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.

Theorem 3.3. Consider that the surface $P(s, t)$ is determined by Equation (6). One of the following six conditions is satisfied if the mean curvature in Equation (9) along the isoparametric Smarandache curve TB of the curve $\alpha(s)$ is constant:
a) $f=g=h=f_{t}=f_{t t}\left(\mathrm{~s}, t_{0}\right)=0, \quad g_{t}\left(s, t_{0}\right)=$ constant $\neq 0, h_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant $\neq 1$, and $\kappa_{1}(s)=$ constant.
b) $f=g=h=g_{t}=g_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right)=$ constant $\neq 0, h_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant.
c) $f=g=h=h_{t}=h_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right)=$ constant $\neq 0, g_{t}\left(s, t_{0}\right)=$ constant $\neq 0, \quad \tilde{h}(s)=$ constant $\neq 1$, and $\kappa_{1}(s)=$ constant.
d) $f=g=h=f_{t}=g_{t}=f_{t t}=g_{t t}\left(s, t_{0}\right)=0, \quad h_{t}\left(s, t_{0}\right) \neq 0, \quad \tilde{h}(s)=$ constant $\neq 1, \quad$ and $\quad \kappa_{1}(s)=$ constant.
e) $f=g=h=f_{t}=h_{t}=f_{t t}=h_{t t}\left(s, t_{0}\right)=0, g_{t}\left(s, t_{0}\right) \neq 0, \tilde{h}(s)=$ constant, and $\kappa_{1}(s)=$ constant .
f) $f=g=h=g_{t}=h_{t}=h_{t t}=g_{t t}\left(s, t_{0}\right)=0, \quad f_{t}\left(s, t_{0}\right) \neq 0, \quad \tilde{h}(s)=$ constant $\neq 1, \quad$ and $\quad \kappa_{1}(s)=$ constant.

Example 3.4. Let $\alpha(s)$ be a parametrized by $\alpha(s)=\left(\frac{1}{\sqrt{2}} \cos s, \frac{1}{\sqrt{2}} \sin s, \frac{s}{\sqrt{2}}\right), 0 \leq s \leq 2 \pi$. Then, the Frenet vectors in the three dimensional Lie Group are given as

$$
\begin{gathered}
T(s)=\left(-\frac{1}{\sqrt{2}} \sin s, \frac{1}{\sqrt{2}} \cos s, \frac{1}{\sqrt{2}}\right) \\
N(s)=(-\cos s,-\sin s, 0)
\end{gathered}
$$

and

$$
B(s)=\frac{1}{\sqrt{2}}(\sin s,-\cos s, 1)
$$

where $\kappa_{1}=\frac{1}{\sqrt{2}}, \overline{\kappa_{2}}=0, \kappa_{2}=\frac{1}{\sqrt{2}}$, and $\tilde{h}(s)=1$.
Then, we can give the following cases:

Case 1. We can select $f(s, t)=0, g(s, t)=t^{3}, h(s, t)=s \sin t$, and $t_{0}=0$ while taking into account the (d) condition of Theorem 3.1. Consequently, the surface $P_{1}(s, t)$ of the Lie group is provided by

$$
\begin{gathered}
P_{1}(s, t)=\alpha_{T N}(s)+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s) \\
P_{1}(s, t)=\frac{1}{\sqrt{2}}(T(s)+N(s))+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s)
\end{gathered}
$$

and so

$$
P_{1}(s, t)=\left(-\frac{\sin s}{2}-\frac{\cos s}{\sqrt{2}}-t^{3} \cos s+\frac{1}{\sqrt{2}} s \sin t \sin s, \frac{\cos s}{2}-\frac{\sin s}{\sqrt{2}}-t^{3} \sin s-s \sin t \frac{\cos s}{\sqrt{2}}, \frac{1}{2}+\frac{1}{\sqrt{2}} s \sin t\right)
$$

which is plotted in Fig. 1, where $0 \leq s \leq 2 \pi$ and $0 \leq t \leq 1$ with constant mean curvature $H\left(s, t_{0}\right)=-\frac{1}{4}$.


Fig. 1. The surface $P_{1}(s, t)$ with constant mean curvature along the $T N$ Smarandache curve of the curve $\alpha(s)$
Case 2. We can select $f(s, t)=e^{s} t, g(s, t)=t^{3}, h(s, t)=0$, and $t_{0}=0$ while taking into account the (f) condition of Theorem 3.2. Consequently, the surface $P_{2}(s, t)$ of the Lie group is provided by

$$
\begin{gathered}
P_{2}(s, t)=\alpha_{N B}(s)+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s) \\
P_{2}(s, t)=\frac{1}{\sqrt{2}}(N(s)+B(s))+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s)
\end{gathered}
$$

and so

$$
P_{2}(s, t)=\left(-\frac{1}{\sqrt{2}} \cos s+\frac{1}{2} \sin s-e^{s} t \frac{1}{\sqrt{2}} \sin s-t^{3} \cos s,-\frac{1}{\sqrt{2}} \sin s-\frac{1}{2} \cos s+e^{s} t \frac{1}{\sqrt{2}} \cos s-t^{3} \sin s, \frac{1}{2}+\frac{1}{\sqrt{2}} e^{s} t\right)
$$

which is plotted in Fig. 2, where $0 \leq s \leq 2 \pi$ and $0 \leq t \leq 1$ with constant mean curvature $H\left(s, t_{0}\right)=-\frac{1}{2}$.


Fig. 2. The surface $P_{2}(s, t)$ with constant mean curvature along the $N B$ Smarandache curve of the curve $\alpha(s)$
Case 3. We can select $f(s, t)=s t^{3}, g(s, t)=s \sin t, h(s, t)=0$, and $t_{0}=0$ while taking into account the (e) condition of Theorem 3.3. Consequently, the surface $P_{3}(s, t)$ of the Lie group is provided by

$$
\begin{gathered}
P_{3}(s, t)=\alpha_{T B}(s)+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s) \\
P_{3}(s, t)=\frac{1}{\sqrt{2}}(T(s)+B(s))+f(s, t) T(s)+g(s, t) N(s)+h(s, t) B(s)
\end{gathered}
$$

and so

$$
P_{3}(s, t)=\left(-s t^{3} \frac{1}{\sqrt{2}} \sin s-s \sin t \cos s, s t^{3} \frac{1}{\sqrt{2}} \cos s-s \sin t \sin s, 1+\frac{1}{\sqrt{2}} s t^{3}\right)
$$

which is plotted in Fig. 3, where $0 \leq s \leq 2 \pi$ and $0 \leq t \leq 1$ with constant mean curvature $H\left(s, t_{0}\right)=0$.


Fig. 3. The surface $P_{3}(s, t)$ with constant mean curvature along the $T B$ Smarandache curve of the curve $\alpha(s)$

## 4. Conclusion

In this study, we constructed surfaces along the given $T N, N B$, and $T B$ Smarandache curves of the curve $\alpha(s)$, and in each case, calculated the mean curvature of the given surfaces. Thus, sufficient conditions were derived to obtain surfaces with constant mean curvature along the $T N, N B$, and $T B$ Smarandache curves of the curve $\alpha(s)$, respectively. According to the given theorems, we constructed the surfaces $P_{i}(s, t)$, for $1 \leq i \leq 3$ with constant mean curvature and illustrated them in Figs. 1-3 for the parameters $0 \leq s \leq 2 \pi$ and $0 \leq t \leq 1$ by using Mathematica, respectively. In addition to the results shown in the manuscript, the work has also brought up a number of open questions for future studies, such as how to construct surfaces with constant Gauss curvatures along the given $T N, N B$, and $T B$ Smarandache curves.

## Author Contributions

The first author provided the idea and wrote the first draft, and the second author made the calculations and wrote the first draft. They all read and approved the last version of the manuscript.

## Conflict of Interest

All the authors declare no conflict of interest.

## Acknowledgement

This study was supported by the Office of Scientific Research Projects Coordination at Frrat University, Grant number: FF. 21.15 which is related to the MSc thesis of the second author.

## References

[1] A. T. Ali, Special Smarandache Curves in the Euclidean space, International Journal of Mathematical Combinatorics 2 (2010) 30-36.
[2] M. Turgut, S. Yılmaz, Smarandache Curves in Minkowski Space-Time, International Journal of Mathematical Combinatorics 3 (2008) 51-55.
[3] C. Değirmen, O. Z. Okuyucu, Ö. G. Yıldız, Smarandache Curves in Three-Dimensional Lie Groups, Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics 68 (2019) 1175-1185.
[4] Ü. Çiftçi, A Generalization of Lancret's Theorem, Journal of Geometry and Physics 59 (2009) 1597-1603.
[5] O. Z. Okuyucu, I. Gök, Y. Yayl1, N. Ekmekci, Slant Helices in Three Dimensional Lie Groups, Applied Mathematics and Computation 221 (2013) 672-683.
[6] D. W. Yoon, General Helices of AW(k)-Type in the Lie Group, Journal of Applied Mathematics 2012 (2012) Article ID 535123 pp. 10.
[7] D. W. Yoon, Z. K. Yüzbaşı, M. Bektaş, An Approach for Surfaces Using an Asymptotic Curve in Lie Group, Journal of Advanced Physics 6 (4) (2017) 586-590.
[8] D. W. Yoon, Z. K. Yüzbaşı, On Constructions of Surfaces Using A Geodesic in Lie Group, Journal of Geometry 110 (2) (2019) 1-10.
[9] G. J. Wang, K. Tang, C. L. Tai, Parametric Representation of a Surface Pencil with a Common Spatial Geodesic, Computer-Aided Design 36 (2004) 447-459.
[10] C. Y. Li, R. H. Wang, C. G. Zhu, Parametric Representation of a Surface Pencil with a Common Line of Curvature, Computer-Aided Design 43 (2011) 1110-1117.
[11] E. Kasap, F. T. Akyıldız, Surfaces with a Common Geodesic in Minkowski 3-space, Applied Mathematics and Computation 177 (2006) 260-270.
[12] M. Altın, A. Kazan, H. B. Karadağ, Hypersurface Families with Smarandache curves in Galilean 4-space, Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics 70 (2021) 744-761.
[13] E. Bayram, Construction of Surfaces with Constant Mean Curvature Along a Timelike Curve, Journal of Polytechnic 1 (2022) pp. 7.
[14] H. Coşanoğlu, E. Bayram, Construction of Surfaces with Constant Mean Curvature along a Curve in $E^{3}$, Journal of Natural and Applied Sciences 24 (3) (2020) 533-538.
[15] E. Abbena, S. Salamon, A. Gray, Modern Differential Geometry of Curves and Surfaces with Mathematica, Third Edition, 1998.


[^0]:    ${ }^{1}$ zuhal2387@yahoo.com.tr (Corresponding Author); ${ }^{2}$ svncatlla @ gmail.com
    ${ }^{1,2}$ Department of Mathematics, Faculty of Science, Firat University, Elazığ, Türkiye

